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Candidate Name

Paper Name

Test Date :05/26/2023
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Center

Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Indian classical Dancer Yamini Krishnamurthy has awarded with . R R AT A P B @ g a1

A Padma Vibhushan T g
Padma Vibhushan, Padma Bhushan and Padma Shri a1 farygwor, waT agur SR o ot
Dronacharya Award Ao R

Q.No: 2 Which amendment act incorporated Dadra and Nagar Haveli in the Indian Union? T SR TR gl Y R e siftfve 3 wredta g F e far
18" Amendment Act, 1960 18ai Wit sfufraw, 1960
16™ Amendment Act, 1963 16ai it s, 1963

D 20™ Amendment Act, 1969 2081 W= fifrm, 1969
|Q.No: 3 In which year was the World Bank Group established? oy & g o T o ad Y o
A 1978 1978

c
‘ D | 1966 ‘ 1966
Q.No: 4 Parkash Singh Badal, former Chief Minister of passed away recently. ¥ ud g v g ared @1 grd & 4 fem & mn
A Karnataka Fled
B Tamil Nadu aﬁ'mmg
Kerala
cbexam: _Cand_Objections/. D 1019
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Q.No: 5 Red Fort of Agra, was inscribed in the UNESCO World Heritage List in , under Category iii as a cultural monument. | 3TRT & T e, T GRSfaP RS & w0 § Joit 111 F ded Tl o1 fay favraa ot & # sifera forar mar am
A 1999 1999
1986 1986
1980 1980
Which of the following amendment included sindhi as the 15! language in the eight . .
QNOI 6 (podile? Tt & § frg wxie & srodt st § 1548 wiw & w0 & Rish @1 wfoa a2
22" Amendment Act, 1962 22qi W Afufm, 1962
28" Amendment Act, 1972 28ai Wit aifufam, 1972
D 17" Amendment Act, 1975 17491 Wit sfufrm, 1975
Q.No: 7 When did the Taj Mahal become a UNESCO World Heritage Site? qoHEd ! 1y eRIER R $a
A 1997 1997
1986 1986
1959 1959
Q.No: 8 When does Superstar Shahrukh Khan won Padma Shri award? YRER WMeed T 7§ 731 ft [THR Fa Sfar?
A 2001 2001
2005 2005
2007 2007
Q.No: 9 Yamini Krishnamurthy is a renowned and Bharatnatyam dancer. e Fomf v i R R FAT €
A Manipuri wﬁrgﬁ
‘Yakshagana

Kathak

In 1978, the 44™ amendment to the constitution removed the right to property from the
fundamental rights and placed it under article.

Q.No: 10 1978 #, WU & 443 Thert gR1 WUt F SfIGR B Fferep st & ger foan mar ok 5 Sfe & Sfafa @ Tl
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B 402A 402A
(o} 398A 398A
D 304A 304A
Q.No: 11 ::rcr:rsd;gintrt;:t\emi::ﬁ::?Reglsrratlon System Bulletin issued by the Central Government, which state is the leading state in ¥ —_—— o A qafT » RYTIRF P fr a2

D Assam H
‘Q.No: 12‘ Manipuri dance, evolved in in north-eastern India. ‘Hﬁﬂﬂiﬂ, IR-gdf uRa & # fawfia gom
A Assam R

Tamil Nadu

o Kerala

kil

Q.No: 13 Which of the following crops is regarded as a plantation crop?

Frafefed # & frd wae &) Ao e 7 S 82

B Rice

Soybean

wrard

Q.No: 14 Chandra Naidu has passed away recently, she was related to which discipline? b g 1 7 & § P 8, 9% o faw § wefva o2
A Science R

B Literature e

[« Finance e

‘Q.No: 15‘ Who was the head of Defence in first cabinet of Free India(1947)?

‘eﬂmm(wn)aﬁqﬁﬁwﬁwmﬁﬁﬂ?

A Jawaharlal Nehru

Jagjivan Ram

‘ D ‘v.u. Gadgil

Q.No: 16 Prasar Bharati’s conclave to celebrate 100 episodes of PM Modi’s Mann Ki Baat was held in which city?

T 3 A & 79 F A & 100 TS TR & R TR wRd @1 wEe e ek # s foan m are

A Kanpur

PHR

B Chennai

g

cbexam: _Cand_Objections/. .
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D Varanasi ROt [
‘Q.No: 17‘ Ramappa Temple, located in |wm111‘121, FRE3 ‘
A Andhra Pradesh Eigcoid

B Neemuch =
[« Dewas A
D Indore w©R
‘Q.No: 19‘The smallest National Park of India is .(By Area) ‘wmmﬁar@aw R (375 F IFTER)
A Patalpani National Park raTeraTe T Ser

Hemis national park e wfta gam
‘ D ‘ Kaziranga National Park ‘ P AT S
Q.No: 20 Where is the Directorate of Agriculture Engineering located in Madhya Pradesh? e W A iy syt Py el fRud &2
A Jhabua Eit
B Morena kel
[« Niwari Prargt

A e o v e v @ 87
Q.No: 21
el At T o e 1

Srqof e

AR yired

ST DT

|

2 g e T & @R 1 = -
Q.No: 22

e STSIR T SR Wk
A T

cbexam: _Cand_Objections/. .
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c P |
b emPesraamw |

@ e AT, # AT F YHR AT 9 Fo-

Q.No: 23 .
R g T

|

U T @, A ATl & UBR B1 9GH Pif-

Q.No: 24
e o Al @1

|

A2 e an arew Prefefaa 3 @ frw @@ @1 82

Q.No: 25
TG BT BT AN U Saed uE

BFRGTG YFPT

| Hfera s

olm

TriTe Hfed s

Q.No: 26 W&l & I T W e faiwwn § 2
A ffererar
A

@

|

| Q.No: 27 Pl A 9w ez e < Ao

A RECICH

C STTE

D P ‘
QuNo: 28 "wdiftwta" w1 i W e & @ &7 ‘

cbexam , Cand_Objections! . o
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c g

o wm |

Q.No: 29 FrRifEa & & "wour 9 * &1 i uia F1 87
A JEE
B <fr

Q.No: 30 e & & TREFa &1 dwa Weg |1 AT 2

A e T @t oiten 9fS @1 e st g 8
c e ATyt ATt A BT e e
o it afew o o o qww T

Q.No: 32 Frfifea A & “smmaw &1 Rdm e 71 82
A EEv
B B

D foeg g et F & w1 T

Q.No: 33 e w1 farim ez Frefefa & § @ 82
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‘Q,No: 35‘%@mmﬂ$ﬁuﬂmmaﬁm$mﬁﬁﬁzmmé,ﬁ Ea g1
A faufd

[« ot
D i ‘

Qo 36 PR 4 4 e = a1 7 - \

A g
c Srarareft
‘D ‘ﬁ‘zmﬁwﬂﬁﬂﬁﬁﬁ
g S F T ored-Ng 1 T -
Q.No: 37
NSO - SO
A fereneff - s

Q.No: 38 Frfifea & & wifeim wrez @ a7 #fom-

Q.No: 39 Frffed A arrar’ & Si- T 82

T FAN
FHURT T

g T

Q.No: 40 Frfifad & F S o 2ex 7 3@ 3R g 31 geft Fer o1 onf 32

A I B I & AR & B frerar &
B TF W o, gl o uw-u R W de @
D PBTH FE W IARE G
chexam: , Cand_Objections. o e
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Identify the segment that contains a grammatical error. If there is no error, select 'No error'.
Q.No: 41

Its always a beautiful day in my neighborhood.

beautiful day

B in my neighborhood.

D No Error

Q.No: 42 Select the correctly spelt word.

C verittable

‘ D ‘ purposfully
Select the antonym of the given word.

Q.No: 43
ESCALATE

B enlarge

c heighten

D raise
In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No error'.

Q.No: 44
The competent authority must ensure that the victims of political violence in Bengal are able to return to its homes.
the victims of political violence in Bengal

B No error

D The competent authority must ensure that

Select the most appropriate word for the given group of words.
Q.No: 45
Rules governing socially acceptable behaviour.

B Etymology

C Misconduct

Q.No: 46 Select the correctly spelt word.

cbexam: _Cand_Objections/. ,, 819
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C Persaverance
Privelege

Select the most appropriate antonym of the given word.
Q.No: 47
Facilitate

Increase

Improve

Encourage

Select the most appropriate option to fill in the blank.
Q.No: 48

Could you spell your name , please?

never

weakly

forever

In the below question, sentence/passage is split into four parts and named P, Q, R & S. These four parts are not given in their proper order. Read the sentence/passage and find out which of the four combinations is correct.

P. From this modest beginning it soon acquired a life of its own.
Q.No: 49
Q. There is a theory that Indians are one branch of a common people who lived originally in Central Asia.

R. It began as a theory to explain similarities between Sanskrit and classical European languages like Greek and Latin.
S. This theory arose in the eighteenth century.

PSQR

PQRS

QSPR

|

Select the most appropriate option to fill in the blank.

Q.No: 50
One day, the queen was painting when a messenger entered to convey the king's arrival.
comparably
‘enjoyably

D relatively

‘Q.No: 51 ‘ Identify the segment that contains a grammatical error. If there is no error, select 'No error'.

cbexam: _Cand_Objections/. D 919
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Apart from Germany, they also visited Italy and Austria during its business trip.

No error.

also visited Italy and Austria

D Apart from Germany, they

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the sentence is free from error, select 'No error'.

Q.No: 52

Ensuring a proper fit is essential to optimize both the source control and the protection offered.

B Ensuring a proper fit is essential to

c and the protection offered.

Select the most appropriate option to fill in the blank.

My mother is a and forgiving person.

apprehensive

o

difficutt

Select the most appropriate synonym of the given word.
Q.No: 54
UNCANNY

Deranged

Reckless

Select the most appropriate option to fill in the blank.

Q.No: 55
The sudden death of our uncle was for all of us.
fragile
dissuasive

D gentle

cbexam: _Cand_Objections/. ,. 10019
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Q.No: 56 Select the correctly spelt word.

A Despottic

B Adamant
D Contentous

Select the most appropriate synonym of the given word.

Q.No: 57
REPENTANCE
Retaliation
B Punishment

Identify the segment in the sentence which contains the grammatical error from the given options.

Q.No: 58

The thin wire that giving off light is called the filament.

light is

the filament

D The thin wire

In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and choose the option that provides the correct final order.

P. The little boat was having a rough time.
Q.No: 59
Q. Mr. Younger did not think it could reach the harbour.
R. But, bit by bit, it made headway against the squall, until at last the watchers could see those on board.

S. There were only a boy and a man.

A PQRS
C SQRP
o sPar
Select the antonym of the given word.
Q.No: 60
SCARCE
seldom
few
(o scanty
cbexam: ,_Cand_Objections o o
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Q.No: 61 @+ ) :(b+c): (c+a)=97:13 anda + b+ c =203, then what will be the value of - 111

= I 4T gH?

abpc

2 AfE@+b):(b+e):(c+a)=97133Ra+b+ec=203 4"

A 4:3:6 4:3:6

‘Wed
moay

If the price of crude oil at the end of Thursday was Rs.37950 per barrel, then what was the price (per barrel) of crude oil at

the beginning of Tuesday?
2 AR & ofd § F= A0 A PIAd 37950 U Uf IR R, A AR F Yoo F w= A7 @ FAa (U &) T A

A Rs.24000 24000 ¥7F
B Rs.22500 22500 ¥7
23400 23400 ¥7F

o
»
o

There are some chocolates in a packet whose total volume is 55 cm3 . If each chocolate is in the shape of a sphere and the @ U%c & $@ diwaie § @ To e 55 9013 §1 9 WS pde T Ma & HHR F1 ¢ AR Wde dibae o e 1 940 &, a i

Q:N0: 63 2 meter of each chocolate is 1 cm, then what is the number of chocolates in the packet? # <iwde F) de Rl 82
120 120
80 80

D 95 o5

The average age of the class of 42 students is 17 years. The average age of the class is increased by one year if the age of the T 42 B & H&1 &1 3igd 31 17 a9 81 afe Ree & o1g 1 i fbar Y & e @ 3ika oi1g 1 o wg Wit 81 Rieep Bt 3mg.

Q:No: 64 her is also included. Find the age of the teacher. T R
59 years 59 af
61 years 61 ad

D 58 years 58 af

cbexam: _Cand_Objections/. n 12119
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The average of thirteen numbers is 141. The average of the first three numbers is 114 and that of next
seven numbers is 143. The 11% number is two times of 12% number of (and) 12% number is 6 less than the
13% number. What is the average of 12% and 13% number?

ARG TS BT A 141 B TS A T BT A 114 B AR ST Wi WS BT Sfd 143 ¥1 11 T, 1241 Fem F A
SR 1241 G, 13 & Wem A 6 B9 21 124 3R 13 T @ sirad @@ 82

139 139
137.5 137.5
1225 122.5

In 1 litre mixture of sprit and water, 20% is water. How much sprit should be added, so that the proportion of water becomes

Q.No: 66 g, Rre iR il & 1 e e § 20% gFf 1 freit e SR freré o aifes o o6 == 500 & o

A 4 litres 4z

c 5 litres 5 e

o 6 litres 6w

QNo: 67 A shopkeeper sells 90 litres of mustard oil in Rs.8730 at the profit of R.12 per ltre of mustard oi. What is the cost price of 1 o 12 7 e el 5 3 7o T 00 e el 1 3 5730 w2 A 21 1 e ¥ s A 1 o e A2

litre of mustard oil?

Rs.95 95 ¥ud
Rs.80 80 ¥Ud
Rs.90 90 ¥

A 4-digit number is formed by repeating a 2-digit number such as 2424, 1212 etc. Any number of this form is always exactly

QNo: 68 oo by? T 4 3P B GBI 2 3 P FRIGRT Q&K T § O 2424, 1212 TN | 3 THR 1 HIS +ft G gAn fRifoa gl -
A 11 11
c 13 13
R ,
No: go Alconol and water in two vessels A and B are in the ratio 2:5 and 9:7 respectively. In what ratio both mixed to obtain a new QU A 3R B srepied AR UF HE: 2:5 3R 9:7 F UK A 1 UF C F Sfehledt 3R UM BT RIS HIAT AT T 1 N7 9 e
Q.No: mixture in vessel C consisting of alcohol is equal of water? % fore G o srguTal # foveman s anfgee
2:1 2:1
11:23 11:23

3:2

|

3:2

Q.No: 70 A can do 2/3 of a work in 8 days, while B alone can a work in 10 days. In how long both can do it together? A, 8 Al & 2/3 B1f &% Wl §, el B o 10 R F Uo 1l B wobell 31 b wHa A G ThEy BT @1 R Wbl 7
A 50/9 days 50/9 i

B 50/11 days 50/11 f&

c 60/9 days 60/9 fer

cbexam:
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‘Q.No: 71‘Ratlo of ages of Aand B is 6 : 5. What can be the ratio of ages of A & B, 15 years from now? A IR B @ 3 BT IUE 6 : 581 3@ F 15 79 91G A AR B B 1Y BT 3T 31 & Tl € ?
A 7:5 7:5
c 6:5 6:5
‘D ‘5 14 ‘5 14 ‘
‘Q.No: 72‘ Which of the following is least number? \mﬁm:ﬁawﬁwﬁ ‘
A 15/24 15/24
c 17/26 17/26
‘D ‘ 19/28 19/28
QNo: 73 :;v;ga;erra:;?must sugar at Rs.33 per kg be mixed with sugar at Rs.28 per kg, so that the mixture is worth 35 o o R e e ) 1 26 0 S o g e 9 e e o e e <1, A Ron s 30 % 5 R
A 3:2 3:2

c
‘ D ‘ 47 47
No: 74 The average age of a family of five members is 24 years. If the present age of the youngest member is 8 years, then what was Ui YRl F P URaR F1 $irad g 24 oY §1 AR Yad HH 1Y & G F1 aduH oY 8 IY 3, o e HH g $ Hew & o H A4 & qid
QNo: the average age of the family at the time immediately before the birth of the youngest member? TS URaR @ 3irea g e o2
16 years 16 af
28 years 28 af
D 24 years 24 af
No: 75 A motorboat can travel at 10 km/hr in still water. It travelled 91 kms downstream in a river and then returned to the same T Hiezale fRR W # 10 fori/der 91 i a6 R w6 81 76 w A A uR1 F) R A o1 feeht g welt @ o R 3w W dedt
Q.No: place, taking altogether 20 hrs. The rate of flow of river is : %, Rl oa 20 2 o W §1 7 & vare B o e &2
9 km/h 9 fdt/der
7 km/h 7 et/ ver
D 6 km/h 6 freit/wer
No: 76 A boat takes 60 percent more time to cover a certain distance in upstream than in downstream.If speed of current is 7.5 T 9 B @ R g urT % R qu e §, G gl oR1 3 RR § qu e W @ AT w9 § 60 YR iU wHg o @1
Q.No: km/h, then in how much time it will cover a distance of 180 km in upstream ? e uRT Y R 7.5 /e &, @ e g @ g8 uR1 & fanda femn & 180 et @ g @@ wwie
A 7 hr 76
c 7.5 hr 759
‘ D ‘ 7.8 hr 7.8W

cbexam:
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A 3 lit mixture contains two liquid wine and water in which 13 percent water is present. In
the above mixture. another 3 it mixture which has 8 percent water, isaddedmd% lit water

T 3 T F T A &Y g R R e e g R, o 13 oftter wet SutRe
&1 I T A 3 et & v ey e F St s g ol o s g

Q.No: 77
also added separately then what is the p ge of water in the final mixture. S arerT & - e et ot ferrmam oo & < sifeet fRrsron 7w ot e o €2
A 17.08 percent 17.08 uferra
B 16.08 percent 16.08 uferra
c 12.08 percent 12.08 uferra
QNo: 78 Anukul bought a ring for Rs.500. Later she marked up the price by 40% and sold the article for a discount of 16%. Her total | 3fI&d I 500 ¥Ud & T SAIET WA e § IT Hd 40% TP wgl &l 3R 16% F1 Fe W 38 A9 | IH@T Fa A/

gain/loss is what percentage of the marked price?

71, Sifea Tea @1 e fwrd @2

19.2% 19.2%
15.7% 15.7%
12.5% 12.5%

There are total 26 students in a class. Piyush was assigned a task to calculate the average marks of first 25 students according

T Bl § o 26 el ¥1 Ny S SrHHie F SR Ued 25 BT & N I B A S ST S W1 T o AT Tt § g6

Q.No: 79  to their roll numbers, but by mistake he calculated the average marks of all 26 students due to which the average marks Wit 26 BHE & SN 3T B T R & P SRO S 31 1 9 11 AR 269 BT BN 90 I W el § o USH 25 B P i
increased by 1. If the 26th student got 90 marks then find the average marks of the first 25 students. T ST

A 66 marks 66 3T

c 62 marks 62 3F

D 65 marks (65 9w |

Q.No: 80 A man walking at the rate of 3 km/hr crosses a square field diagonally in 2 min. The area of the field is: T 3reHt 3 . . vl b F iy A U iR & P faebula: 2 e & uR Sl 81 &9 &1 &t w1 Bl

A 300 meter square 300 aff ez

B 200 meter square 200 a7 fex
Which of the following represents the critical angle of 2 medium(6), for light soing from the medium to Fa # & o mem F g # I a9 v & R 99 mew F wife e w1

Q:No: 81 the 4ir? (Given o = 1 and p1 =) TR @ 2 Em T e =1 R =)

& = cos (1)

& =cos! (1)

e T e

©: =siml

O. =sin i

‘Q.No: 82

‘ What type of evolution leads to formation of analogous structures?

cbexam:
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Divergent evolution

Regressive evolution

A bucket of liquid is swirled for a few seconds and then held at rest. Which of the following causes the liquid to come to rest
after some time?

A B TP Tt G O AbS S o TA e § AR v FaRremaret & r o 1
Frafefea # § frwd RO g0 $o T A RR 8 o 82

B Change in volume A & aRadT

c Density bers

Q.No: 85 If a person looks pale, feels tired and experiences cold after an injury, then it means that the person is - afe HE o it foga @, 4eT g HegH PRal € 3R 9IC @ & 91g 3 P IFHT HRT 8, Al 6T Haa ¢ o 98 Al § -
A suffering from diabetes ﬂ!{ﬂv /R

in a coma

suffering from a hemorrhage Yaaama | Wfa

Q.No: 86 Which of the following is NOT a name of Dengue fever? P d A S ST gER F1 AW T 22
A Aden fever & @R
Break bone fever 3 1S TER (3F 9 BIR)

Dandy fever EH-5W

Q.No: 87 Which of the following best describes the relationship? fraff@a & & o @ gay odt 82
A 19 =0.01Kg 19 =10.01Kg
B 1Kg=1g 1Kg=1g

1Kg=100g 1Kg=100g

cbexam: _Cand_Objections/.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eonle Play

6/23/23, 1:34 PM ‘mppeb.cbexams. 3_Cand_Objectionsl.
An identally gets d out of his small hij lerating in 1 llar space at a p i i . .
P T P 'z sraeer o Terdt © o affy e Bl ST AaTaRET i 2
constant rate of 100ms~2. What is the acceleration of the astronaut the instant after he is outside the w 4 ¥ ) s & TI'FT i @ gl N & H 100ms
QNo: 88| spaceship.? o1 R o § 71T B © e anl & Sfalka I & 9% §H & g a1e SuP! aRUl 18 1?
(Assume that there are no nearby starts to exert gravitational force on him) (A ¥ T O W) T[T s g e P (T BT S- 9T 1 e ST 6 8)
B 200 m/s? 200 m/s?
c 50 m/s* 50 m/s*
D 100 m/s* 100 m/s*
‘ Q.No: 89 ‘ The herbivores are also called . ‘Wm ol oft T W
A None of the given options fou e R @ #1 T&
c Secondary consumers Areafis IuiaEr
‘ D ‘ Tertiary consumers \mm
Q.No: 90 Which of the following causes Potato leaf roll disease? e & § frad SRor e e e T @7
A Bacteria Sftarop
B Insects LS
D Fungus HAD
‘Q.No: 91‘Which among the following is the SI unit of viscosity? ‘ﬁm@aﬁﬁﬁﬁmwaﬁmmt ‘
A No units o TS TE
c Newton I
‘ D ‘ Candela ‘ﬁm ‘
Q.No: 92 Which among the following fluids has zero surface tension? Frafefea # 9 e 5 &1 g8 e 3 82
B Real fluids arafa® 5@
c Incompressible fluids srafifda sa
D There are no fluids with zero surface tension T[T WAE T A Y 5 T
‘ Q.No: 93 ‘ How many base unit are in the International system of units? ‘mﬁaﬁ SR omelt F e iR 5T 82
A 3 3
c 5 5
chexam: ,_Cand_Objections! D 17119
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‘ D ‘ ° 9
Q.No: 94 The combined effect of mass and velocity is taken into account by a physical quantity is called.......... SOTHMA R I & G FH1G B NS HH GRT A F @ AR o
Moment of force BT &1
Speed afe
Impulse maT
Q.No: 95 Which of the following should NOT be done in first-aid if a person is suffering from nose-bleeds? afe; ot aft 1 1 § gt o w1 @ ot Frufifed & § $1 1w IreR T w A
A Place a cold compress over the nose of the person. R P A1 W TP ST HUeH 7|
B Ask the person to relax. e B AR B & g Be1
Q.No: 96 Who is known as the father of Zoology? g T & S & w0 F 5 5 o @7
A Calvin Ffam
B 3. C. Bose S d
D Darwin wifd

Q.No: 97 Which is the most essential particle to continue the chain reaction in the fission of Uranium? Rfm & e # yaan sfifrar 3 o T & R 9l Sfawad SO () HH 9 8?

c Positron dsfier
‘ D ‘ Proton |tﬂz1‘=l ‘
‘Q.No: 98‘ Hemophilia is also known as - ‘Eﬁﬁ‘?ﬂﬁm, & w0 H ot I TR - ‘

A Heart-blockage disease FEU-3raRY I

D Frank’s disease e

Q.No: 99 The avalanche breakdown in p-n junction is due to R-TF S F AT W 1 RGeS HS B BR 2
High level of impurity Y T I TR
i level wiff W # afvad=

Change in Fer

A
B
o mmesemveossssmse o6
L emeese s reseved
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Q.No: 100

o0 o >

An optical fibre is a very thin fibre made of

1. Glass

2. Mercury

3. Plastic
1,2and 3
1and 2 only
1 only

1and 3 only

mppeb.cbe

i

,_Cand_Obj

U 3fodd BER W &1 U sgd & uaal BIER g
1. T

2. UR1

3. wifes

1,29k 3

Faw 1 3R 2

a1

Faa 1 9R 3

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




